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Question 1 of 61 Primary 6 Science (Term 2) 2 pts

For each question, four options are given. One of them is the correct answer. Indicate
your choice of the answer below. (56 marks)

Study the diagram below.

A water ] B
taken in taken in

photosynihesis

relaases

Which one of the following correcily represents substances A, B, C and D in the diagram?

A) |A B c D

light energy | oxygen | carbon dioxide |starch

B) |a B c D

heat energy | carbon dioxide [oxygen |sugar

C) (A B c D

heat energy [oxygen [carbon dioxide | sugar

D) |a B c D

light energy | carbon dioxide | oxygen |starch
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Question 2 of 61

ClassMarker - Professional online testing

Primary 6 Science (Term 2)

The diagram below shows how food and waler ara transported o different parts of a

flowering plant.
!‘ l
'*_I
X & LT T Stem
*

*I'III'

Koy:

W‘.:'l.tEl'—...‘.
Food =*sesesd

Which of the following correctly identifies the parts of (he plant?

A) |w X Y ya
Flower | Roots |Leaves | Fruit

B) |w X Y |z
Leaves |Flower | Fruit | Roots

C)lw |[x |y |z

Roots | Fruit [ Flower | Leaves

D) lw |x Y

Y4

Roots | Flower | Leaves

Fruit

https://www.classmarker.com/a/tests/test/print/?test_id=1826724
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Question 3 of 61 Primary 6 Science (Term 2) 2 pts

Tha diagram below shows the human digestive system.

Which of the following statements about the digestive system are correct?

A Digestion begins al part Q.

B Parts P and R contain digestive juices,

C Water is absorbed from the undigested food at part T,

D Undigested food is absorbed into the bloodstream at part S.

A) A andD only
B) Band Conly
C) B, CandDonly
D) A, B,CandD
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Question 4 of 61 Primary 6 Science (Term 2) 2 pts

the followin

placed i o dark room for. § days. She then set up llowing

v&;:pﬂmmuﬂ erit md:‘p::mu;jpf]a;ﬂnlmaa!ﬂw days lo find aut the effect of carbon dioxide on
phaotosynthesis, Liquids S and T ware placed in each of the plastic bags as shown below.

: leafl Y wrappad with
leal X wrapped with cleer plasilc bag

L 'i:'!-i__ -'_'_'lr .

. e,
ks i 3%

k]
':‘
k]
-
e

Vinette then conducted a starch test on both eaves and recorded her resulls inf the tabla

befow.
i Leaf X Loaf Y
Colour of iodine solution .
afior starch teat Yellowish-browm Diaarks. blioe

Based only on the resulls above, which of the folowing statements |s true?

A) Liquid S had produced oxygen in the plastic bag.
B) Liquid T had produced oxygen in the plastic bag.
C) Liquid S had removed carbon dioxide from the plastic bag.

D) Liquid T had removed carbon dioxide from the plastic bag.

https://www.classmarker.com/a/tests/test/print/?test_id=1826724
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Question 5 of 61 Primary 6 Science (Term 2) 2 pts

Harry wanled 1o find cul how the intensity of kight affecis the rate of photosynihesis of
plant A. He set 1p an experiment In a dark room as shown below.

gas collecled

AT

. B

T hi T Tt
T

famg

.f-%n.':
B pia?

He prepared four similar set-ups with different distances, d, from plant A. He measured and
recorded the amount of oxygen collecled in the lest tube for each sel-up. Based on the
expeniment above, which one of the following graphs shows the masl likely result?

A)
Amount of oxygen
(units)
74 6 8 dm
B)

https://www.classmarker.com/a/tests/test/print/?test_id=1826724 6/55
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Amount of oxygen
(units)

:’D wdeep f (C)

2 8

C)
Amount of oxygen
(units)
5 4 6 8 dm
D)
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Amount of oxygen
(units)

- —d (cm)

Question 6 of 61 Primary 6 Science (Term 2) 2 pts

Which of the following get(s) its/their energy directly from the sun?

A Fern

B Grass

C Mould

D Mushroom

A) Bonly

B) AandBonly
C) AandD only
D) CandD only

https://www.classmarker.com/a/tests/test/print/?test_id=1826724 8/55



10/31/21, 1:24 PM ClassMarker - Professional online testing

Question 7 of 61 Primary 6 Science (Term 2) 2 pts

Mally placed 4 idenfical plants, A, B, C and D, under different conditions. She then lasted the
leaves of tha plants for starch after 4 days and recorded the resulls as shown in the table

below,
Plant | Fertiliser added | Presence of light | Presence of starch
A yes yes present
| B yes no absent
G no yes present
(8] no no [ absent

Based only on the results shown ebove, what can Mally concluda?

A) Light is needed for photosynthesis to take place.
B) Fertiliser is needed for photosynthesis to take place.
C) Light and fertiliser are needed for photosynthesis to take place.

D) Light and fertiliser are not needed for photosynthesis to take place.

Question 8 of 61 Primary 6 Science (Term 2) 2 pts

The diagram below represents the water cycle.

Cloud
process Y \Jmcess =
Waler vapour ' |_ Rain J
process X
Waler bodies

Which of the fellowing statements about the water cycle are comrect?

Process X can only take place at 100°C.

Process X occurs when waler gains heat.

There is no change in state during process Z.

Process Y can only take place when thera is no temperature difference.

oOoOm>

A) A and B only
B) B and C only
C) CandDonly
D) A, B,CandD
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Question 9 of 61

Tim set up an
temperaturs 28*

Which one of lha lollowing shows the cormed! order of temperaturas of the four beakers of

ClassMarker - Professional online testing

Primary 6 Science (Term 2)

water droplel

water

waler, from the lowest 1 the highest?

A)

B)

C)

D)

Lowest Temperature

Highest Temperature

Y

z

Lowest Temperature

Highest Temperature

Y4

W

Lowest Temperature

Highest Temperature

W

z

Lowest Temperature

Highest Temperature

W

z

Question 10 of 61

Primary 6 Science (Term 2)

Which of the following ways help to conserve water?

A Collecting rainwater to water the plants.

B Turning off the taps when they are not in use.
Installing solar panels on the roof of the house.
D Switching off the air-conditioner when not in use.

C

A) AandB only
B) CandD only

C) A,BandDonly
D) A, CandD only

https://www.classmarker.com/a/tests/test/print/?test_id=1826724
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Question 11 of 61 Primary 6 Science (Term 2) 2 pts

Which of the following statements about evaporation and boiling of liquids are correct?

A Both can take place in the dark.

B Both occur at a fixed temperature.

C Both involve the same change in states of matter.

D Both require heat gain of the liquids from the surroundings.

A) A and B only
B) Band Conly
C) CandD only
D) A, CandDonly

Question 12 of 61 Primary 6 Science (Term 2) 2 pts

Cathy placed a thermometer in a beaker of boiling water. After some time, sha placed the
beaker of water in the freazar al 0°C and recorded the change in femperature of the water in

the graph below
Temperalire s
("C)
100
J K
L
' ] -

{

" o Tima (min)

Based on the graph above, which of the fallowing statements are trua?

A Waler ios! heat from paint K fo paint L.

B lca can be observed in tha beaker at point AL

C The beaker was placed in the freezer al point J.
D Mo evaporation otcurred from point L o paint M.

A) Bonly

B) AandB only

C) CandDonly

D) A, B,CandD
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Primary 6 Science (Term 2)

ADNMAO 581 up o
H Al BApenMment as snown in e aiagram weuw.

He placed object A on tha
brought near object A and

L___Eb. object A

@—mlgﬁg scala

Figurn

1

A, T
] -IE_I weighing scale

Figure 2

weighing scale and recorded the reading. A bar magnet was than
the nenw reading was recorded, He repeated the steps wilh cbjacts

B and C. Objacts &, B and C are made of different materials.

His results are shown in the table below.

qﬁ&ad]ng on

Figure 1 Figura2
weighing scale (g)
Object A 12.0 13.5
ObjectB 150 15.0
| ObjectC 165 140 |

Bated on Ahmad's resulis abova, which of Lhe following are likely to be objects A, B and C?

A)

B)

C)

D)

Object A |Object B |Object C
steel block |magnet [wooden block
Object A Object B |Object C
wooden block |steel block [ magnet
Object A |Object B Object C
steel block |wooden block | magnet
Object A | Object B Object C
magnet |wooden block | steel block

https://www.classmarker.com/a/tests/test/print/?test_id=1826724
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Question 14 of 61 Primary 6 Science (Term 2) 2 pts

. The sat-up below show light from a torch shining on three solid objects of the same
height but made of different materials. All three objects are placed in a straight line
at positions X, ¥ and Z.

——GCMeEn

forch % Y Z

The diagram below shows the shadow farmed on the scresn.

Which o the following would allow the shadow above to ba formed?

A Ix |y |z

wood | wood | metal

B) (x Y ya

tracing paper | metal | clear glass

C) |x Y |z

clear glass |wood | metal

D) Ix |y Z

metal | tracing paper |wood

https://www.classmarker.com/a/tests/test/print/?test_id=1826724
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Question 15 of 61 Primary 6 Science (Term 2) 2 pts

The table below shows the state of substances W, X, Y and Z at different tempearatures.

Substance State of substance
2°C B5°C 95°C
W liquid liquid gas
a liquid gas gas
Y solid solid ‘solid
Z liquid liquid . Tiquid

Which of the following statements about the substances are correct?

A
B
c
D

A)
B)
C)
D)

Substance W is a liquid at 40°C,

Substanca Y has the lowest melling point.

Substance Z has the highast freezing point.
Substance X has a lower boiling point than substance W.

A and C only
A and D only
B and C only
A,B,CandD

https://www.classmarker.com/a/tests/test/print/?test_id=1826724
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Primary 6 Science (Term 2)

2 pts

Jun Wei covered a ramp with material P and released a wooden block from the lop the ramp.

He then measured, d, the distanca thal the wooden block slid

to a slop, as shown in the disgram below,

s dem 3

across the floor before coming

Ha repealed the experiment with three other materals
oxperimeant is shown in the table below,

|=

Material

I:I

Q

d {gm)

28

B.1

5

6.4

72

Based on lhe resulls of Jun Wei's experiment, which matesial, P, O, RwS
suillable to be used for making part Y of the anti-slip socks as shown in the 'If-ﬂlg;‘drn below?

A)
B)
C)
D)

»w X0 O T

https://www.classmarker.com/a/tests/test/print/?test_id=1826724
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Question 17 of 61 Primary 6 Science (Term 2) 2 pts

Ravi hung a weighing pan from a spring as shown in the diagram below.

ﬁTﬂ - tengin of spring measured

weighing pan

e
Hé placed identical marbles on tha weighing pan, cne al a time, and measured the length of
the spring.
Which one of the following graphs most likely shows the results of Ravi's experiment?

A)

Length of
spring (cm)

10

MNA o

, Number of
1 2 3 4 5 marbles

B)

https://www.classmarker.com/a/tests/test/print/?test_id=1826724
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Length of
spring (cm)

10

8
6
4
2

« Number of
0 1 2 3 "4 5 marbles

C)
Length of

spring (cm)

- - Number of
0 1 2 3 4 s marbles

D)
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Length of

spring (cm)
10

8

6

4

2

— Number of
0 1 2 3 4 5 marbles
Question 18 of 61 Primary 6 Science (Term 2) 2 pts

Zi La released a foy parachute from the air as shown in the diagram below,

plastic parachule

string

plastic loy soldier

Which of the following forces are presant as the loy parachute falls slowly throwgh the alr'?
A Magnetic force

B Frictional force

C  Gravilational Toree

D Elastic spring forcs

A) B and Conly
B) Band D only
C) A,BandConly
D) A, CandD only
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Question 19 of 61 Primary 6 Science (Term 2) 2 pts

Siudy the four circuit diagrams below. All tha batleres and bulbs used are idenlical.

— i —

[1]1- 1] i
: | o, © fee-
024 & &

P

- R®—

Set-up W Set-up X Set-up Y Set-up Z

Arrange the set-ups based on the brightness of bulb P, from the brightest to the least bright.

A) W, X ZY
B) X,W,Y,Z
C) X,ZY,W
D) Z Y X, W

Question 20 of 61 Primary 6 Science (Term 2) 2 pts

The diagram below shows a circuit diagram with two gaps, P and Q.

Q@ = ] b

.

Which one of the loliowing observations is comract when different materials are used o

connect gaps P and Q in the circuil?

A) |p Q Observations

aluminium | glass | The bulb lit up and the buzzer sounded.

B) |p Q Observations

iron |wood | The bulb lit up but the buzzer did not sound.

C) |p Q Observations
rubber [plastic | The bulb did not light up but the buzzer sounded.

D) |p Q Observations
steel | copper | The bulb did not light up and the buzzer did not sound.
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Question 21 of 61 Primary 6 Science (Term 2) 2 pts

Study the circuil diagram below. B1, B2 and B3 are bulbs. $1, 52 and 53 are swilches.

i,

a2

B1

53
B3

Which of the following stalements about the circuil above isfare comrect?

P B1 will light up if either B2 or B3 ara lighted.
QO  When only S2 and 53 ara closed, B2 and B3 will light up.
R When all the swilches are closed and BA fuses, only B4 will light up.
§  I[B1 fuses, none af the ofher bulbs willlight up even when all the switches are closad,
A) Ponly
B) PandSonly
C) QandRonly
D) Q,Rand S only
Question 22 of 61 Primary 6 Science (Term 2) 2 pts

Which of the following show(s) unsafe use of electricity?

A Putting in many plugs into one socket

B Using electrical appliances with exposed wires

C Handling electrical appliances using wet hands

D Getting an electrician to repair damaged electrical appliances

A)
B)
C)
D)

D only

A and C only

A, B and C only
B, C and D only

https://www.classmarker.com/a/tests/test/print/?test_id=1826724
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Question 23 of 61 Primary 6 Science (Term 2)

Which of the following statements about energy is/are true?

A Energy is needed by animals only.
B Energy can exist in different forms.
C Energy is not needed during sleeping.

A) Bonly

B) Aand Conly
C) BandConly
D) A, BandC

Question 24 of 61 Primary 6 Science (Term 2)

Study the circull diagram below.

{1]1]

ool MM P
X

51

O

Which of the following shows the correct energy conversions when 52 is opened and S1 is

closed?

A) Electrical energy ----- > Sound energy
B) Potential energy ------ > Electrical energy ------ > Sound energy
C) Electrical energy ------- > Light energy + Sound energy

D) Potential energy ------ > Electrical energy ------ > Light energy

https://www.classmarker.com/a/tests/test/print/?test_id=1826724
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Question 25 of 61 Primary 6 Science (Term 2) 2 pts

2am made a oy as show below. He streiched the elastic band backward and
released it for the ball to be thrown forward.

elastic band

Which of tha following changes, when made together, will allow the ball to travel the furthesy
distanca?

A Using a lighter ball
B Streiching the elastic band further
C  Using less forca to pull the elastic band

A) A and B only
B) Aand C only
C) BandConly
D) A,BandC

Question 26 of 61 Primary 6 Science (Term 2) 2 pts

Mrs Lim conducled an experiment as shown below. She dropped a ball al point A, The class
observed thal each fime the ball hil the ground, it bounced up to a lower height until it finalty
stopped at point F.

E
] Y
i T
& L]
e oo P
L T L
* r ] ]
T # £ &

Tha class made the following conchusions based on the experiment
Which of the following is correct?

A) The ball has no kinetic energy at D.

B) The ball has the most potential energy at A.

C) The ball has less kinetic energy at B than at F.

D) The ball has the same amount of potential energy at C and E.

https://www.classmarker.com/a/tests/test/print/?test_id=1826724 22/55
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Question 27 of 61 Primary 6 Science (Term 2) 2 pts

A ball is lied lo a machine as shown in the diagram below. When Tem swings the ball, ivhits

the loy building which then lalis oudly

ball —

maching

builefing

A) Before releasing ball Ball swinging Building falling

Kinetic energy (ball) ----- > Kinetic energy (ball) ------- > Sound energy (toy building)

B) Potential energy (ball) ----- > Kinetic energy (ball) ------ > Sound energy (toy building)

C) Potential energy (ball) -----> Kinetic energy (ball) -----> Light energy (toy building)

D) Kinetic energy (ball) ------ > Potential energy (ball) ------ > Light energy (toy building)

https://www.classmarker.com/a/tests/test/print/?test_id=1826724
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Question 28 of 61 Primary 6 Science (Term 2) 2 pts

- The diagram below shows Adam with his bat 2nd basaball

—— basaball

&

e

Based on lhe diagram above, which of the followi
g , whic  laliowing becl represenis the type of enerc
passessed by the bat and the baseball befora Adarm swings his bat " =

A) Bat Baseball

kinetic energy | kinetic energy

B) Bat Baseball

kinetic energy |potential energy

C) Bat Baseball

potential energy | kinetic energy

D) Bat Baseball

potential energy | potential energy
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Question 29 of 61

Sean carried out an experiment to find out how the amount of light shining on a

ClassMarker - Professional online testing

Primary 6 Science (Term 2)

plant affects the amount of water it takes in.

The diagram below shows the set-ups of his experiment.

i

85~

0 pts

iV V-

olant -@5%, plant plant
3 oi ; oil . =D i
waler water ﬁ:-—f’"’; waker

Set-up A

Set-up B

Set-up C

Ha left lhe set-ups In the same room and recorded the amount of waler left in each beaker

after four days.
Set-up A Set-up B Set-up C
Amount of water at the start 200 .
of the experiment {mE) b <o) 200
Amount of water at the end 160
of the axperiment (m) ity m

What was the purpose of adding oil to the beaker of water in each set-up? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and

guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as

it was designed in such a way that it requires manual assistance.

https://www.classmarker.com/a/tests/test/print/?test_id=1826724
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Question 30 of 61

Sean carried out an experiment to find out how the amount of light shining on a

ClassMarker - Professional online testing

Primary 6 Science (Term 2)

plant affects the amount of water it takes in.

The diagram below shows the set-ups of his experiment.

i

85~

0 pts

iV V-

olant -@5%, plant plant
3 oi ; oil . =D i
waler water ﬁ:-—f’"’; waker

Set-up A

Set-up B

Set-up C

Ha laft the set-ups in the same room and recorded the amount of watar left in each beaker

after four days.
Set-up A Set-up B Set-up C
Amount of waler at the start 200 5
of the experiment {mE) b <o) 200
Amount of water at the end 160
of the oxperiment (mE) ity m

Explain why set-up C has the least amount of water left after 4 days. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and

guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as

it was designed in such a way that it requires manual assistance.

https://www.classmarker.com/a/tests/test/print/?test_id=1826724
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10/31/21, 1:24 PM

Question 31 of 61
Sean carried out an experiment to find out how the amount of light shining on a

plant affects the amount of water it takes in.
The diagram below shows the set-ups of his experiment.

— gy
plamt

plant %%rl plant
o ; cil N o
water ﬁ;‘_ﬁ_—-—-—"‘ waler

&
waler
Sel-up A Set-up B Set-up C
Ha left lhe set-ups In the same room and recorded the amount of waler left in each beaker
after four days.
Set-up A Set-up B Set-up C

Amount of water at the start 200

of the experiment {mE) s 200 200

Amount of water at the end 160

of the oxperiment (mE) 14 1m

Sean then covered each set-up with a bax and placed a sensor to measure the amount of

oxygen released by each plani.
The graph below shows the results for the amount of oxygen released for set-up C.

Amount of
oxygen
produced
(units)
e e, awlup G

» Time (hours)

In the graph above, draw and label the results for set-ups A and B. (1 mark)

https://www.classmarker.com/a/tests/test/print/?test_id=1826724
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This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.

Question 32 of 61 Primary 6 Science (Term 2) 0 pts

nd oul how the size of food affected how fast lI;: k::rudHIa
digested. He placed some meat into each of the set-ups, P, Q and R, as shown . He
::l.lgl the meat Eﬂn two pieces for sat-up Q and four pieces for set-up R. He then placed the
meat into equal volume of digestive juica X, as shewn in the diagram below.

Jim conducted an experiment o fi

digestive juice X

E;at;up Q

Afer 30 minutes, he recorded the results in the fable below.,

Total mass of meat (g)
Set-up Al the start of the 7
& ; , After 30 min:ﬂa_s_
P fo2 a2
Q a5 a3
R a1 _g 75

What should Jim do to ensure that his experiment is a fair test? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 33 of 61 Primary 6 Science (Term 2) 0 pts

Jim conducted an experiment to find out how the size of food affected how fast the food is
digested. He placed some meal into each of the set-ups, P, @ and R, as shown balow. He
cut the meat into two pieces for sat-up Q and four pieces for sef-up R. He then placed the
meat into equal volume of digestive juice X, as shown in the diagram below.

digestive juice X

W

’_7—- -':-i - ._I:_._._
& i I

Set-up P Set-up Q Set-up R

After 20 minutes, he recorded the results in the table below,

Total mass of meat (g)
Set-up Al the start of the 7
& ; , After 30 minlnﬂi
P fo2 o2
Q a5 a3
R 91 J 75

Explain how digestive juices helps in the digestion process. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.

https://www.classmarker.com/a/tests/test/print/?test_id=1826724
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Question 34 of 61 Primary 6 Science (Term 2) 0 pts

Jim conducted an expesiment to find out how the size of food affacted how fast the food Is
digested. He placed some meal into each of the set-ups, P. Q and R, as shown balow. He
cut the meat into two pieces for sat-up Q and four pieces for sef-up R. He then placed the
meat into equal volume of digestive juice X_ as shown in the diagram below.

digestive juice X

ST ST o T e
e e |
i i k]
. - \ W
[ ] ‘ d
[
| 4]

Set-up P Set-up Q Set-up R

After 20 minutes, he recorded the results in the table below,

Total mass of meat (g)
Set-up Al the start of the
; After 30 minutes
experprmert T,
P fo2 o2
Q a5 a3
R =] J 76

The graph below show how the amount of undigested lood changes as it passes
through the parts of Jim's digestive system whan he chews his lood before swallowing.

Amiount of

unchgested
focd

\aQ -

mouth  guilel slomach  small larga
intestines  intestines

Parts of
" digastve
system

In the graph above, draw how the amoun of undigested food changes if Jim does not
chew before swallowing. 2

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.
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Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.

Question 35 of 61 Primary 6 Science (Term 2) 1 pt

The diagram below shows a plant cell.

o™

- nucleus
) ' S

Ol
H—r
oo

In which part of a plant are you most likely to find the cell above? (1 mark)
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Question 36 of 61 Primary 6 Science (Term 2) 0 pts

The diagram below shows a plant cell.
(G )

L- nucleus
. ' S

Ol
H—r

)

State the function of part S. (1 mark)
This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 37 of 61 Primary 6 Science (Term 2) 0 pts

The diagram below shows a plant cell.

o)

- nucleus
. ' S

)

Explain why part R cannot be found in an animal cell. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 38 of 61

Em:nmymndudadan experiment where sha heated three different matenials with the same
amount of heat for 30 minutes and recorded the resulis in the table as shown below.

ClassMarker - Professional online testing

Primary 6 Science (Term 2)

l

. Temperature ("C)
Material
Atthe startofthe | - spr 30 minutes
p 28 35
Q 28 S0-
R 48 80
=]
She then set up ancther exparimant as shown in the diagram below and placed it under the
sun for one hour.
~
sheel ____
basin

saltwater al room lemperature

In the blanks below, fill in the material, P, Q, or R, that she should use for each part of her
setup so that she can collect the most amount of pure water in the basin. (She can use the

same material more than once.)

1.1 1] Sheet: Material A. P
2.1 1 Tank: Material B. R
C. Q
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Question 39 of 61 Primary 6 Science (Term 2) 0 pts

Eal-'nmymndudadan experiment where sha heated three different matenials with the same
amount of heat for 30 minutes and recorded the resulis in the table as shown below.

] Temperature (°C) l
Material
Atthestartofthe |  amor 30 minutes
p 28 35
Q 28 50-
R 48 80
]
She then set up ancther exparimant as shown in the diagram below and placed it under the
sun for ona hour,
~

sheel ____

basin

saltwater at room lemparature

Suggest two other modifications to the set-up Sammy can make to collect more pure water
in the basin after six hours. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 40 of 61 Primary 6 Science (Term2) 0 pts

John was standing in an air-conditioned room as shown in the diagram below.

Temparature in tha room (20°C) temperature outside (30°C)

glass surface 1

John noticed that thera were water droplets on the glass surface.

Explain how and where the water droplets were formed. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 41 of 61 Primary 6 Science (Term 2) 0 pts

John was standing in an air-conditioned room as shown in the diagram below.

Temperature in tha room (20°C) temperature outside (30°C)

glass surface 1

John noticed that thera were water droplets on the glass surface.

John replaced tha original window with & double-glazed window of th .
shown in tha diagram below. 9 of the same material, as

Temperaiure in the room {20°C) temperature outside (30°C)

double-glazed
= aiss window

4— tayer of alr

glass surface 1

olass sudace 2

Explain why surface 1 of ha double-glazed wi e
dropleis on it as in Fﬂrt {ah 4 window did -ot have =5 much w—a;;;-

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.

https://www.classmarker.com/a/tests/test/print/?test_id=1826724 37/55



10/31/21, 1:24 PM ClassMarker - Professional online testing

Question 42 of 61 Primary 6 Science (Term 2) 0 pts

Xinyi is given the lnlln;rling items.

arollof sicky tape @

Using only the given items above, state how Xinyi could make the toy car move forward
without pushing or pulling it. (2 marks)

Step 1:

Step 2:

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.

Question 43 of 61 Primary 6 Science (Term 2) 0 pts

Xinyi is given the I'nlln;iing items.

a rofl of sticky tape

What would be observed if a lighter toy car is used? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 44 of 61 Primary 6 Science (Term 2) 0 pts

Xinyi is given the lnlln;rling items.

@0::3

a bar magnet a steef rog

arollof sticky tape @ plastic toy &0

Xinyi replaced the steel rod with another bar magnet.
What should Xinyi do in order to make the toy car move forward? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.

Question 45 of 61 Primary 6 Science (Term 2) 0 pts

Peter carried out an experiment in a park as shown in the diagram below.
&
“ T~ an

O
LJ

In the diagram above, draw light rays to show how Peter is able to see the tree. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 46 of 61 Primary 6 Science (Term 2) 0 pts

Peter carried out an experiment in a park as shown in the diagram below.

N
_’QE SUn

Explain how wearing a hat on a bright day helps to protect Peter's eyes. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 47 of 61 Primary 6 Science (Term 2) 0 pts

Peter carried out an experiment in a park as shown in the diagram below.

What will happen to the size of Peter's shadow as he moves towards the tree? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 48 of 61 Primary 6 Science (Term 2) 0 pts

Peter carried out an experiment in a park as shown in the diagram below.

State two properties of light that caused the shadow to be formed. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 49 of 61 Primary 6 Science (Term 2) 1 pt

HE pumpﬁd m Gl'ﬂ:ﬂf ﬂ.l.r inlﬂ !!'}E mlﬂm

: in the di below.
Yusri made a loy as shown in ragram the floor, d, was then measured,

and released il. The distance moved by the toy over

Starting position : Final position
balloon
cardboard
e
-; dem »  loor

Yusri repeated the experiment by pumping differenl amounis of air info the balloon. The
resulls of his experiment are shown in the graph below.,

Distance travelled (cm)
160 1

140 f-=m-m=m e
2 .

100
B0 b
60

401~

20

d l Amount of alr pumped
into balloon (cm?)

50 100 150

State the force that had caused the toy to stop moving at the final position.
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Question 50 of 61 Primary 6 Science (Term 2) 0 pts

HE pumpﬁd m Gl'ﬂ:ﬂf ﬂ.l.r inlﬂ !!'}E mlﬂm

: in the di below.
Yusri made a loy as shown in ragram the floor, d, was then measured,

and released il. The distance moved by the toy over

Starling position : Final position

bafloon

s =

¥ dem > floor

Yusri repeated the experiment by pumping differenl amounis of air info the balloon. The
resulls of his experiment are shown in the graph below.,

Distance travelled (cm)
160 1

140 f-=m-m=m e
120
100
B0 b
60

401~
20
d l Amount of alr pumped
into balloon (cm?)

e

50 100 150
What is the relationship between the amount of air pumped into the balloon and the distance
travelled by the toy across the floor? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 51 of 61 Primary 6 Science (Term 2) 0 pts

Yusri made a oy as shown in the diagram below. He pumped 50 cm” of aif into the bafloon

and released iL. The distance moved by the toy over the floor, d, was then measured,
Starling position : Final position
balloon
cardboard
e
¥ dem »  foor

Yusri repeated the experiment by pumping differenl amounis of air info the balloon. The
resulls of his experiment are shown in the graph below.,

Distance travelled (cm)
160 1

140 f-=m-m=m e
2 .

100
B0 b
60

401~
20
d l Amount of alr pumped
into balloon (cm?)

50 100 150

Suggest how Yusri could increase the reliability of his results. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 52 of 61 Primary 6 Science (Term 2) 0 pts
Yusri made a oy as shown in the diagram below. He pumped 50 cm” of aif into the bafloon
and released iL. The distance moved by the toy over the floor, d, was then measured,
Starting position : Final position
balloon
cardboard
e
h dem - floar

Yusri repeated the experiment by pumping differenl amounis of air info the balloon. The
resulls of his experiment are shown in the graph below,

Distance travelled (cm)

1601
180 === -
120 | :
100
Bl Yk araaea
60

40 ==
0

50 100 150 200

Amount of alr pumped
into balloon (em?)

yusri then repeated his expariment by placing the toy at the botiom i
surface as the floor. AR

.—.‘___‘_,..--"""_.

balloon

deom
e =

\When 200 cm? of air was pumped info the balloon, would the toy now travel a shorter,
ionger, of same distance on the ramp than on the floor? Explain your answer in terms
of forces. [

fioor

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 53 of 61 Primary 6 Science (Term 2) 0 pts

Mary used a dropper to take in liquid X from a beaker as shown inf the sel-up beloy,
squeezed the rubber handle of the dropper and then releasad it again lo iake in liquid th::.’n

tha beakar.
rubber handle rubber handla
squeered released

o

Beforg

Explain how these actions enabled soma of tha liquid 1o entar the glass fube of the dropper.
{2
i) Squeezing the rubber handle:

ii) Releasing the rubber handle:

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 54 of 61 Primary 6 Science (Term 2) 1 pt

Jaime crealed a loy using a botlle cap, ice-cream sticks and rubber bands as shown
in the diagram below,

boftls cap attached
l2 tha stick

ice-craam sticks

nubbar bands

She placad a paper ball in the boftle cap, pushed the botlle cap dowrwards and releasad the
botile cap which launched the paper ball through the air.

She than mada 3 other similar toys using different number of lce-cream slicks to make part X
and repeated the experiment. Her results are shown in the iable below.

Number of ice-cream sticks used to 3 3 g "t'z—|
maka part X - | o
Distance moved by the paper ball (em) | 2 & 12 | 22 ‘

State the form of energy that the rubber bands possessed when the bottle cap was pushed
down.
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Question 55 of 61 Primary 6 Science (Term 2) 0 pts

Jaime crealed a loy using a botlle cap, ice-cream sticks and rubber bands as shown
in the diagram below,

boftls cap attached
l2 tha stick

ice-craam sticks

nubbar bands

She placad a paper ball in the boftle cap, pushed the botlle cap dowrwards and releasad the
botile cap which launched the paper ball through the air.

She then mads 3 other similar loys using different number of ice-cream slicks to make part X
and repeated the experiment. Her results are shown in the lable below.

Number of ice-cream sticks used to 3|6 ] 9 "t'z—|
make part X -
Distance moved by the paper ball (em) | 2 & 12 | 22 ‘

State the relationship between the number of ice-cream sticks used to make part X and the
distance moved by the paper ball. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 56 of 61 Primary 6 Science (Term 2) 0 pts

Jaime crealed a loy using a botlle cap, ice-cream sticks and rubber bands as shown
in the diagram below,

boftls cap attached
15 tha slick

ice-craam sticks

nubbar bands

She placad a paper ball in the boftle cap, pushed the botlle cap dowrwards and releasad the
botile cap which launched the paper ball through the air.

She then mada 3 other similar lays using different number of ice-cream sticks to make part X
and repeated the experiment. Her results are shown in the lable below.

Number of ice-cream sticks used to 3|6 ] 9 "t'z—|
make part X -
Distance moved by the paper ball (em) | 2 & 12 | 22 ‘

Explain why it is important for her to use ice cream sticks of the same thickness for each toy.
(1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 57 of 61 Primary 6 Science (Term 2) 0 pts

Aidil carried a heavy backpack and skated down a ramp without pushing off. He

noticed that when he reached point X, there was a slight pause before his skateboard
rolled backwards.

W
State the main energy conversions from point V1o point X, ]
> =
: (Aidil rolling past {Aidil pausing at
(Aidil at poincV) paoint W) point X)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 58 of 61 Primary 6 Science (Term 2) 0 pts

Aidil carried a heavy backpack and skated down a ramp without pushing off. He

noticed that when he reached point X, there was a slight pause before his skateboard
rolled backwards.

W

Explain why he still could not reach point Y. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 59 of 61 Primary 6 Science (Term 2) 0 pts

Aidil carried a heavy backpack and skated down a ramp without pushing off. He

noticed that when he reached point X, there was a slight pause before his skateboard
rolled backwards.

W

Without using a lubricant, suggest one change that will allow him to reach point Y. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 60 of 61 Primary 6 Science (Term 2) 0 pts

The diagram below shows parts of a torch.

metal contact
switch .

metal contacl

batteries

Draw a circuit diagram to represent the electrical circuit in the torch above. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 61 of 61 Primary 6 Science (Term 2) 0 pts

The diagram below shows parts of a torch.

metal contact
switch .

metal contacl

When Ethan bought ihe lorch, a small plastic strip was placed between the metal contacts of
tha switch as shown in the diagram below,

- plastc sinp

Explain why Ethan had lo remove the plastic sirip before he could switch on the tarch.
i1l

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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